
Pŕıklad 1. lim
x→1

sin(x− 1)

lnx
= lim

x→1

cos(x− 1)
1
x

= lim
x→1

x cos(x− 1) = 1 .

Pŕıklad 6. lim
x→0

x sinx− x2

2 cosx− 2 + x2
= lim

x→0

sinx+ x cosx− 2x

−2 sinx+ 2x
= lim

x→0

2 cosx− x sinx− 2

−2 cosx+ 2
=

lim
x→0

−3 sinx− x cosx

2 sinx
= lim

x→0

−4 cosx+ x sinx

2 cosx
= −2 .

Pŕıklad 12. lim
x→0+

x e
1
x = lim

x→0+

e
1
x

1
x

= lim
x→0+

e
1
x (− 1

x2 )

− 1
x2

= lim
x→0+

e
1
x = elimx→0+

1
x = +∞ .

Pŕıklad 18. lim
x→0+

(sinx)tg x = lim
x→0+

eln (sin x)tg x .

Poč́ıtajme zvlášt’

lim
x→0+

ln (sinx)tg x = lim
x→0+

ln (sinx)

cotg x
=

= lim
x→0+

1

sinx
· cosx

− 1

sin2 x

= lim
x→0+

−sinxcosx = 0

Dosadeńım do pôvodnej limity dostaneme

lim
x→0+

(sinx)tg x = lim
x→0+

eln (sin x)tg x = e0 = 1.
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